Complements on the Slavonic Abacus, Part 1

Complements to 100, in tens.  

1)
Use the abacus, or use a picture in your head.


Work as quickly as you can.  

	a) 40 + ________ = 100

b) 80 + ________ = 100

c) 50 + ________ = 100
	d) 70 + ________ = 100

e) 10 + ________ = 100


2)
Write or draw the coins you could use to make a pound.

a)
             =                              +       

b)
             =                 +                   + 

c)
             =                 +                   +

d) 
             =                           +                

e)
             =                +             +             +

Complements on the Slavonic Abacus, Part 2

Complements to 100 

Work as quickly as you can.  Use the abacus, or use a picture in your head.

	a) 45 + ________ = 100

b) 72 + ________ = 100

c) 26 + ________ = 100

d) 57 + ________ = 100

e) 31 + ________ = 100

f) 19 + ________ = 100

g) 88 + ________ = 100

h) 63 + ________ = 100

i) 94 + ________ = 100
	j) 100 ( 23 = ________ 

k) 100 ( 84 = ________ 

l) 100 ( 66 = ________ 

m) 100 ( 48 = ________ 

n) 100 ( 79 = ________ 

o) 100 ( 15 = ________ 

p) 100 ( 37 = ________ 

q) 100 ( 91 = ________ 

r) 100 ( 52 = ________ 


	s) 27p + ________ p = £1.00

t) 38p + ________ p = £1.00

u) 74p + ________ p = £1.00
	v) £1.00 = ________ + 42p

w) £1.00 = ________ + 86p





Complements on the Slavonic Abacus, Part 3

Complements to ….. 

Use the abacus, or use a picture in your head.

	Make these add up to 80
a) 32 + ________ = 80

b) 49 + ________ = 80

c) 73 + ________ = 80

d) 21 + ________ = 80

e) 55 + ________ = 80
	Make these add up to 55
f) 43 + ________ = 85

g) 27 + ________ = 85

h) 13 + ________ = 85

i) 38 + ________ = 85

j)   6 + ________ = 85


	Can you imagine the abacus for these?

k) 150
+ ________ = 200

l)   67
+ ________ = 200

m)   73 
+ ________ = 200

n) 325
+ ________ = 500

o) 287
+ ________ = 500

p)   84
+ ________ = 500
	And what about these?

q)   750
+ ________ = 1000

r)   692
+ ________ = 1000

s)   387
+ ________ = 1000

t) 2500
+ ________ = 4000

u) 4750
+ ________ = 8000

v)   648
+ ________ = 2000


£1





50p








50p








£1





10p





20p





£1





10p





20p





50p








Name: ______________________  Date: _________________





20p





50p





£1











Name: ______________________  Date: _________________








Name: ______________________  Date: _________________





£1





20p








